Oneyac.com

TO PROVIDE A SPACE FOR THE VENT.

SCALE 1/1 { SHEETY

REF TYCO P/N 0-1616048-4

D-18F 5
] REVISiONS RELEASED
REV DESCRIPTION DATE APPROVED
W [ 39400 | *CMM® REMOVED FROM REF, *VIBRATION® 198/05/11] RS
ADDED TO DATA, 1.00 & C/L ADDED,
2 44 WAX 1,92 & 2,43 ADDED -
. . , Snummm HOLE FAA-PMA [Y6370-02 ADDED NOTE 3; UPDATED BALLOONS 02/11/727{ 7
4 MTG. HOLES -
Jﬂo CONSTRUCT 10N GASKET SEALED
NOMINAL VOLTAGE 1157200 V, 4 H
:\§ GO——= y | =006 CONTACTS 3889 Veenter orr
CONTACT RATING Bp A, 115 v. 400 HZ
i B2 MOTOR LOAD 20 A, 115V, 400 HZ
. / \k\. _—VENT INTERRUPTING CAPACITY 100 A, 115 V. 400 HZ
= N COIL RATING 28 VDC NOMENAL
S >4 81O 0B3 30 VDC MAX.
> i | PIOKUP 18 V. MAX AT 74°C,
. 2 o A2 20 V. MAX,AT 85°C.
W - > i = DROPOUT qw,,m v,
< o~ J § [ S— u u - A3 .
2 o~ : | i RATED DUTY CONT I NUQUS
< > »20 ; O+Y2  vIBRATION .06 DA 5-55 HZ.
z % aserve P~ 55 artase e
owds POLAR| TY: POLARITY
o O MAX . WEIGHT 15 0Z
-Xt * - TEMPERATURE ~B5+C TO +85°C
~/§ COIL RESISTANCE AT 25°C. 175 OHM £10x
AN MAX, COIL_CURRENT AT 12 AWP
MECHAR | CAL 28 VDC AT 25°C. .
INTERLOCK COIL TRANSIENT 20810 V.
71 11 139529-047 OVERLAY
\@ 20 |1 |305529-009 OVERLAY
19 |1 |39529-023 OVERLAY
L il @6@ 18 |1 |5B400-035 PLATE-FAA/PMA
- 17 |9 151810-054 WASHER-LOCK 10 X062 X 047 SPLIT ANS35B10 BRONZE
10-32 UNF-2A STUD ] 16 |4 |51806-014 WASHER-LOCK #6 SPLIT ANO35B6 BRONZE
9 S7UDS _ . . 15 |2 151805-011 WASHER-LOCK — 5 INT, SPLIT BRONZE
3 1419 151712-194 WASHER-7/16 X 203 X _.031 ANORI-010 | BRASS
1 ~ o \\@ 1314 151702-204 WASHER-3/8 X 9/64 X .032 ANOEOA BRASS
- 12 12 i51701-180 WASHER-3/16 X .103 X 015 MYLAR
6-32 UNC-2A 1. - 1111 151205-591 SCREW 5-40 X _3/8 RD 1D, BRASS
v STUD-4 STUDS It ] 1 .J ] 1041 }51205~391 SCREW 5-40 X 1 178 RD, HD, BRASS
< L 1 [0 1o [50410-054 NUT_10-32 X 5/16 X 9/64 BRASS
8 |4 150406-034 NUT B-32 X _1/4 X 5/64 BRASS
3 A v\ _ _ 7 11 120005-110 CONTAGTOR ASSEMBLY PRIMARY
" " K 1A
- 5 |t 117959-001...... . | PLATE-WARNING
™~ 4 |1 116043-060 PLATE-NAME
3 |t [15553-001 SHIELD-TERMINAL ~TOP ZYTEL 51
- ' 2 i1 _115549-001 SHIELD TERMINAL ZYTEL 51
d TR t |t 115537-009 PLATE-BASE COVER
eo = 0§ oty PART OR NOMENGLATURE OR Fsc | DRAWIRG OR MATERIAL
/ N0 IREQD IDENTIFYING HO DESCRIPTION W | SPECIFICATION OR NOTE
IMESS OTHRISE SECIFIED
DHESIOE KX 1N (OES Elocironics
! + — . 10 i REF. BOEING Lyco
T 1 2 PL DEC.)3 PL DECJANGLES ST 1 HortmanBivision-175 N, DIAKHD STREET _WAMSFIELD, OHIO 44302}
DR BY
.03 Y 1°
NOTES: /ﬁmu £010) ' B SR BYICL o s CONTACTOR - 3PDT
?w ITEMS #4,5,AND 6 LOCATION OPTIONAL, ENGRIY, P ii-05 CENTER OFF
2.) FAA/PMA PLATE (AND OVERLAY) NOT REQUIRED ON UNITS MF G| i oo ivn s o] 003
SUPPLIED TO ORIGINAL EQUIPMENT MANUFACTURERS, SIZE E (DENT WG 10,
3.) ITEM 2 SHOULD BE ORIENTED WITH THE CUTOUT TO THE RIGHT C 174063 D-18F



https://www.oneyac.com

B NE AR EN, AT, SRR A ISR E B

Downloaded From | Oneyac.com


https://www.oneyac.com/brand/1062.html
https://www.oneyac.com

	>>TE Connectivity(泰科)

